SEZMHARE (French Defense)

1. Which move is recommended by Kaiqi in the video?

(a)Qb6  (b)Bd7 (c)f6  (d) c4

2. Black should play?

(a)Qe5 (b)a6 (c)Be7 (d)Bc5
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3. Black should play?

(a) Qb6  (b)ca (c)f6 (d) Nge7

4. Which white pawn should black attack?

(a) Qc7, i e5 &= (b)Qb6 BFHIF d4 =

SSSSSSSSS
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5.White just played dc5, which white pawn should black attack and how?




SEZMHARE (French Defense)

7.White’s kingside pawn is overpushed, how does black use this?

2




=M HAKE (French Defense) 2

9.White is attacking f7, what should black play?

OOOOOOOOO
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10. Game Study:

Game 1

Shabalov,Alexander (2631) — Shirov,Alexei (2705) [C02]
Canadian op Edmonton (8), 15.07.2005

1.e4 €6 2.d4 d5 3.e5 c5 4.c3 Nc6 5.Nf3 Bd7 6.Be2 Nge7 7.Na3 cxd4 8.cxd4 Nf5 9.Nc2
Qb6 10.0-0 Na5! 11.g4 Ne7 12.Nfe1 Bb5 13.Nd3 h5! 14.gxh5 Nf5 15.Be3 Nc6 16.a4?
[16.Kh1]

16...Bc4 17.b4 Qd8 18.Bg4? [18.b5]

18...Nxe3 19.fxe3 Qg5 20.h3 Rxh5 21.Qf3 0-0-0! 22.Qxf7 Rxh3 23.Qxe6+ Kb8 24.Rxf8
Rg3+ 25.Kf2 Rxg4 26.Qd6+ Ka8 27.Rxd8+ Nxd8 28.Qd7 Rg2+ 29.Ke1 Qg3+ 30.Kd1
Qf3+

0-1

Game 2

Muratovic,Enver (2265) — Atalik,Suat (2583) [C02]
Subasic Memorial 5th Zenica (3), 10.12.2006

1.e4 €6 2.d4 d5 3.e5 c5 4.c3 Nc6 5.Nf3 Bd7 6.a3 f6 7.b4 fxe5 8.b5 Nxd4! 9.cxd4 exd4
10.Bf4 Nf6 11.Nbd2 Be7 12.Qb17? [12.93]

12...0-0 13.g3 c4 14.Bh3 e5!! 15.Bxd7 Nxd7 16.Nxe5 Bd6 [16...g5!]
17.Ng6 hxg6 18.Bxd6 Rf6 19.Qb4 Re6+ 20.Kf1 Qf6 21.Bf4 g5 22.Bxg5 Qxg5 23.Kg2
Re2 24.Nxc4 Qf5 25.Rhf1 Qed+ 26.Kg1 dxc4 27.Qxcd+ Kh8 28.Qf7 Ne5 29.Qh5+ Kg8
30.Rac1 Rf8 31.Rc7 Nf3+ 32.Kh1 Ne1+ 33.f3 Nxf3

0-1

KAIQ

CHESS CLUB
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Answers:

1.B
2B
3.C
4.A
5. Ng6, attacks both e5 and c5

6.Since center is locked, Black king is safe now. He should play Na5, Bb5 and act
on queenside

7. h5! Break white’s pawn structure and get f5 for Knight
8. Qd8
9. 0-0-0

10. 1...Rc2 2. Kc3 Qe2 3.Kc1 Qe3 4.Kb2 Qd2 -+

TORONTO i v

CHESS CLUB





